


STRUKTURA TEKSTA:

VJEŽBANJA ĆE BITI SLJEDEĆEG TIPA:

I Complete the second sentence so that it has a similar meaning to the first, using the word in brackets. Do not change the word. Write between two and five words (10 pts)


II Replace the underlined word with a word with a similar meaning from the box. There are two extra words. (10pts)
1  
Barbara has been my best friend for absolutely ages.   buddy
III Choose the correct verb in brackets and use it in the correct form to complete the sentences (9 pts)

1  
Vikings were  ………………___________ from Germanic tribes in Scandinavia. (descend / explore / extort) 

IV Provide the words or expressions for the following explanations (7 pts)
V Fill in the gaps in the text (13 pts)

	Riječi date u “kutiji”; ispod tekst sa odgovarajućim brojem praznina. Tekst se tiče energije, izvora energije i proizvodnje energije


NEKA KORISNA VJEŽBANJA ZA PREDSTOJEĆI ZAVRŠNI ISPIT:

1 
Complete the sentence using the phrase in brackets.
1  
He tried to print the file but he couldn’t get (can’t get) the printer to work. 

2  
You __________________ (can tell) me you were a vegetarian, then I __________________ (wouldn’t cook) roast beef for your dinner. 

3  
We ___________________ (needn’t tip) the waiter. The service was included in the bill. 

4  
Tom ___________________ (must see) the head teacher yesterday about the test he failed. 

5  
Have you found my mobile? I think I ___________________ (may leave) it in your car. 

6  
The guests ___________________ (can’t arrive) yet. Their plane’s expected in half an hour’s time. 

7  
I ___________________ (would think) it was obvious that it’s not OK to give your phone number to strangers! 

8  
If you knew you weren’t coming, you ___________________ (might phoned) us in time to let us know. 

9  
Running in the marathon last weekend ___________________ (must be) exhausting. 

10  
Alex really ___________________ (shouldn’t go) to bed so late last night. 

	1 point for each correct answer
	
	10


2 
Choose the correct answer.

1  
‘I had flu all last week.’ ‘That   b   have been awful!’

a might 

b must 

c should 

2  
I can’t find my purse. It ___ have been stolen. 

a may 

b can 

c would 

3
‘I’ve photocopied that newspaper article.’ ‘Oh, you ___ have done. I bought two copies of the newspaper for us.’ 

a ought to 

b wouldn’t 

c shouldn’t

4
‘I’ve seen The Godfather IV.’ ‘You ___ have seen it. They’ve only made three films in the series.’ 

a shouldn’t 

b can’t 

c mustn’t 

5  
Sean had a terrible toothache, so he ___ to see a dentist. 

       
a should have 

b must have 

c had

6 
The room actually turned out to be empty, so we ___ have knocked.

       
a needn’t 

b couldn’t 

c mustn’t

7 
I’m really worried about Andy. He ___ have arrived by now.

       
a may 

b should 

c can

8 
She ___ have won the match, but she didn’t focus properly, so she lost.

       
a could 

b can 

c won’t

9 
I ___ have known it was Paul who made that stupid joke. So typical of him!

       
a had to 

b must 

c might

10 
My boss gave us the day off on Friday, so we ___ .

       
a needn’t have worked 

b didn’t need to work 


c mustn’t have worked

11 
‘I saw you at the railway station last week.’ ‘Oh yes, that ___ have been on Monday, then.’

a will 

b
 should 

c could

3 
Cross out the incorrect form. Put a tick (() at the end of the line if both forms are correct.

1  
John’s not here yet. He might / could have got lost. (
2  
You can’t / may not have read my story. I haven’t written it yet. _____ 

3  
Bill was lucky to survive the car crash. He could / must have died. _____ 
4  
If you want to use the app, you have to pay. I ’d / ’ll have thought that was obvious. _____ 
5  
‘Where’s Sarah?’ ‘I’m not sure. She may / can have gone home.’ _____ 

6  
You could / might have helped instead of just watching! _____ 

7  
We’ve run out of milk. We should / must have bought some more at the supermarket. _____ 

8  
She shouldn’t / mustn’t have told him my secret. _____ 

9  
I got up early this Sunday, but I didn’t have to / must. _____ 
10  
‘I’ll send you an email about the meeting.’ ‘Thanks, but you needn’t / won’t bother. I can’t come.’ _____ 

11  
We could / might have been successful, but we didn’t work hard enough. _____ 

12  
Nick hasn’t called me all day. He must / should have forgotten about my birthday. _____ 

5 
Choose the correct word.
1  
‘I think that handsome man is called Peter.’ ‘Yeah. I could / must / can have told you that.’ 

2  
Nothing’s impossible. You should / might / must as well sit the exam. 

3  
That misunderstanding with the policeman was just hilarious. You would / should / must have died laughing! 

4  
I’ve been working for 11 hours non-stop. I may / might / could really do with a break. 
5  
‘Forget all about your bad exam result, and move on.’
       
‘I will / would / should if I could.’ 

6  
I know I shouldn’t have laughed, but I just couldn’t / mustn’t / wouldn’t help it. 
7  
‘I’ll just push this red button.’ ‘I won’t / wouldn’t / mustn’t do that if I were you.’ 
8  
I just shouldn’t / couldn’t / mightn’t believe it when I saw that the top student failed the final exam. 

9  
‘PE lessons are horrible in winter!’ ‘You can / should / may say that again!’ 

OBRATITI PAŽNJU NA VJEŽBANJA TIPA:

I Complete the second sentence so that it has a similar meaning to the first, using the word in brackets. Do not change the word. Write between two and five words.

1  
Perhaps it won’t be necessary for me to take an umbrella today. (might)

       
I might not need to take an umbrella today.

II 
Choose the correct verb in brackets and use it in the correct form to complete the sentences.

1  
Vikings were descended from Germanic tribes in Scandinavia. (descend / explore / extort) 

2  
They ___________ their livestock in the fields. (settle / tend / trade) 

III Replace the underlined word with a word with a similar meaning from the box. There are two extra words.

Ponuđeni sinonimi iz lekcije 10
1  
Dave has been my best buddy for absolute ages. friend 



